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{ TINA Interpreter }
111:=V2*R1*R3/(R1+R3)/(R2+R1*R3/(R1+R3))/R1;
121:=V2*R1*R3/(R1+R3)/(R2+R1*R3/(R1+R3))/R3;
131:=-V2/(R2+R1*R3/(R1+R3));
112:=-V1/(R1+R2*R3/(R2+R3));
122:=V1*R2/(R2+R3)/(R1+R2*R3/(R2+R3));
132:=V1*R3/(R2+R3)/(R1+R2*R3/(R2+R3));

11:=111+112;
11=[50m]
12:=121+122;
12=[250m]
13:=131+132;
13=[-300m]
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{ TINA Interpreter }
11:=1s*R1/(R1+R1);
12:=-Vs/(R1+R1)
1:=11+12;
1=[0]
V1:=0;
V2:=Vs;
V:=V1+V2;
V=[2]
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V=V1+V2+V3=50+10+60=120V
{ TINA Interpreter }
V1:=Vs1*R2*R4/(R2+R4)/(R1+R2*R4/(R2+R4));
V1=[50]
V2:=Is1*R2*R4*R1/(R2+R4)/(R1+R2*R4/(R2+R4));
V2=[10]
V3:=Vs2*R1*R2/(R1+R2)/(R4+R1*R2/(R1+R2));
V3=[60]

V:=V1+V2+V3;

V=[120]



